BHEE

$529-22249992-1-20122283556 5

20214F01 A 06 B

® B F B TN EOR P ER AR R L RREE &%
K#EFE AR 202045128 21 H
# OB 4 TEOR
FAX 024(963) 1033
REMBR S JEEEZZTELECABRBRERRZ2 TROBY THEWVEZLET,
% B E B HRER ‘ EETRIE| HEiEEE = B m [ RERER | EETHRE HEE
: (ppm) (ppm) (ppm) (ppm) (ppm) (ppm)
IlEPN BT 0.01 - 46i7cr7:r.‘/7"'/°t/ BET 0.01
20720 FRU YV BRHEET | 001 - 47| uw7= /)UK e 0.1 | 5
3| T VbR TTY BHEHES | 0.01 - @BlrurATay S BT 0.01 =
4TEEZITFYFR BREET 0.1 5 49|70y &8s ke 0.01 0.1
5|77 = b BHET 0.1 1 50/ 7 B Y kR T 0.1 1
6|7/ F R by [ dsvncas 0.1 15 51|27 a7 = F L BT 0.1 5
(V% B 0.01 0.02 52| 7 B a7 7 h(IPC) BmHET 0.01 =
8|7 I ANT uh BRHES 0.1 .15 53| B w ¥ B =/ (TPN) fr s 0.1 ‘4
9757 u—n BHEET 0.01 0.01 | 54| 7FT .y BHET 0.01 - —
W7VRIVRUGTA4NVLRY | BHET 0.01 0.05 55| 7 / i A (CYAP) | BHHET 0.01 = ]
1|4 Y%y Fty BERET | 0.01 - 56|vwmy i | 0.01 0.05
Ay FaFt+s BHET 0.01 - 5| P b 7= BRHES 0.01 —
13|4 Fuozty BT 0.1 5.0 58|27 mi Ay b B 0.01 —
4|4 F kA (1BP) BT 0.01 - 59 vruFupy BT 0.01 -
5|48 7asy K | BT | 0.1 5 60 Yz u=s #BHES | 0.01 -
16/ I~_vajyS—u | BT 0.01 = 61 VAN b R 0.05 0.5
1 AvF )77 BHET 0.01 — 62|v b Y BEET 0.05 0.5
18 AV KXY IT | BEEd | o.01 = 83| mFky ST FNL RS | 0.01 =
19 =3}/ —AP B | 0.0 - 64|V 7 x/) 3}V — BE®ET | 0.01 =
20|=2xFaHNT B 0.01 = 65| 7N Y v - idekne 0.1 | 2.0
21|=F 27 u¥—h | BmHES 0.01 — 66| 7N T =FI K B | 0.01 —
2| =FFu— B 0.01 - 67| SN T x=h BEET 0.01 -
23| b XY —n B®iEd | 0.01 = 68 VI NN Ay [y Jsshon 0.01 =
24| p XA TRV BE¥F | 0.01 = 69Tl — | mHEET | 0.01 =
Bl rT=rFoy sz BT 0.01 - 0y Fav=a BHEEE | 0.1 10
26, pA = R | BT 0.01 - P2 Z2 SV BHEEF | 0.1 5.0
IEDA WY | BHet 0. 005 i 72| = P2 (CAT) BT 0.01 -
BAXPIT S e ) - BlyAaFY—n T =
| 29| AF YT u ARy BRHERT 0.01 - P AFAPY > Edsencnc 0.01 =
30/ AFH I BHEE- 0.01 =) B|PATFIF B 0.01 =
31 AXAHaF /- AT AEE BRHEET 0.01 — | 6|¥Abx—} | T 0.1 | 1
324 A rxE—P | 3 0.1 I MPArENT By 01 | 20
33 AVHFArrEY BHET 0.01 — BALY Y [ tunkcac 0.01 =
34| XY A R BEEE | 001 = VS INF Tz BEHES 0.01 =
3B I T A E—)L [ ssucuri 0.01 = 8lArEY7nT 2y RHET 0.01 S
36| 2 713 U L (NAC) BHET 0.1 10 81| #—r L BT 0.01 | =
MANT =V b T FA BHET 0.01 0.1 82 FAT V) v B 0.01 0.06
B HNLRANLT 7 R 0.1 1 83| ¥ A b B 0.01 =
P INRT T RS 0.05 | 0.5 84|FrsuFY K [y dheags 0.05 | 0.5
40 v yosyF=sagusvoryZerzys | REHET | 0.01 = 85|F 7 A h¥H A BHEd 0.1 5 |
_ALX /7 T3 L (ACN) ey 0.01 - 86| F AN HNT B 0.01 =
L\xXx ST BEHE?T | 0.01 0.01 87| F 7=V ANT RV AFIL BHET 0.01 =
3|73y BRHE ~0. 01 - 88| FINHYIF L Jaeycar 0.01 =
WUlrLyEvarFL RS | 0.01 - 89|F hFaFy—n BT | 0.01 -
BlroFr=Uv BT 0.1 0T F TRV | BEeEd 0.01 =
[FEEIpEREED REET] RERTFREREET Li?
EEMEITRS, TNNDEORBEEZEo74> T,
HIEENENOII—EEE (0.01) PBEEINET,




#29-22249992-1-20122283556 5

20214201 5 06 H
.

* B § 8 RBEER EETRE EXEE % B OE B HEBRER ERTIRME ZEEE

(ppm) (ppm) (ppm) (ppm) (ppm) (ppm)
9|F=nsm—p e | ool | — 46| 7 7a 7 =y BREET | 0.0l =
27Ty —n BT 0.01 = 47|75 FANTay || e 0.01 0.02
B TFIFIRY B3 0.01 | -— 148 7 7 A L By 0.01 —
MTTT7zvETFR BT 0. 01 — 149 ZAT 7Y EY A B 0.01 —
95| F 7SI XA BHET 0.01 = 150| 7A=Y K BT 0.1 . 30
967 7N by BHET 0. 05 0.5 1Bl 7AoFF =1 BT 0.1 10
97|F IR RXa BT | 0.01 = 152| 72 Y R—F By | 0.0l " 0.05
B|FAEA LI RBFTar Yy | BHET 0.1 2 1537 F T = | BT 0.0t 0. 07
N FITVA =L B 0.01 0.1 154 N8 F— b - RS 0.01 =
100 FUT I RARY BHET 0.01 | 0.1 155 7=/ 7 RAay BT 0.1 10
101 FU 75— e | oo | = 156| 7 I AFH v gy | o.01 ==
102| Y ZA IV —N BT 0.01 = 57| FVFF 7 a—n BHET 0.01 —
103 FYTATY v | BT 0.01 0. 05 158/ Fmsrns X BT 0.01 0. 05
04 FUTEEL R hoEy | eS| 0.01 - |sel7avs sy BEET | 001 .
105| b U Y BEET | 0.01 - 160/ 7 RAHRANT BEHET | 0.0 =
106| V7 B AHRA XA FIL BHEHET 0.1 2.0 161 7B F A H R 5 HmHES 0.01 =
07| A7 =2 EFF HBEES |- 0.01 = 162/ XS FE v b R 0.01 =
108/ 7783 K BRHEET 0.01 0.1 163 o ¥ af/—n fREET | 0.01 =
109 =7 T A BHET 0.01 — 164| 7o EH I F BT 0.01 —
1103787 5= BHET 0.01 = 165|702t FrYy REY B 0.01 =
1l FaFyA by | BT 0.01 = 166| 77 = ) KA BT 0.01 | =
A2 ETFAE ) —N HmEd 0.01 0. 05 167|Fa G —) S 0.01 =
3| EZ7= by By 0.1 4 168| 7u=igL BHE3 0.01 —
14|FS 7R buy i dewncary 0.01 — 169 7o A R Y B 0.01 =
5|5 7m=) BREwT 0.01 — 170 7 uE7F K BiHET 0.01 =
|5y ¥ 7 BHET 0.01 - 171 ~FHady—u BRHET 0.01 —.
17 ¥/ AT F ) B | 0.01 - 12| ~FFTS IR REHET 0.01 =
18 B INT 2 TF)L by | o0 | - (BB ~FE Yy v BHET 0.01 -
19|y ¥~y BHET 0.01 = 174NV 2 R U v REES 0.1 20
120 EY7HY ¥ MR | 0.0l = 1758y vrmy BT | 0.0l -
121 EY FFHLT . BHET 0.01 - 176| v AT B Y AFL BT 0.01 —
122 ) Fukxs gy BT 0.1 2.0 LTSV FTRYBATA Y TrEL | BHEET 0.01 —
123 FUIVTIx BT 0.01 = IR FAET : BT 0.1 50
12|V ) Rp T AFN BT 0,01 | —- 119 F4AxF ) BHET 0.01 0.05
125/ B Y S AAF I B 0.1 1.0 180~ b FEH VL BHEd 0.01- —
126 L Y~ BHET 0.1 1 181 RV T FHNT BT 0.1 1
| 127 Koy BT 0.01 - 182 N> 7 LE— b BT 0.01 =
128| 7 7 EXH Ko [ dsuncas 0.01 = 183 RAH Y K BiEd 0.1 40

129| 7 =5 Y ENL BT 0.05 0.5 184| RAFF7E— b BiHET 0.01 0.1
130|7 == h B Fa > (EP) ger | oo | - |issl~vsFay L ) -
1317 = ) XH = Bed | 0.01 —  |isslsrurr=n _ | HET | 0.0 —-
1327 = ) FAILT BEET 0.0 — |tz kkR | BEET | 0.05 0.5
133, 7 = ) 7 A V7 (BPHC) T 0.01 = 188|258 S X ANRUAZ =% 4s | BHES | 0.1 | 1
13472967y BT 0.01 — 189| X F & F > (DMTP) RS 0.01 0.1
135 7=>F3IFY .| gmed | o0l | — 190| # b2 FY— B | 001 =
136 7 = > F 3> (MPP) BEES | 0.01 — 91| A I APy R 0.01 =
137|7 =¥ hx— } (PAP) B 0.01 = 192 A b7 7 a—) | Rt 0.01 -
138| 7 b FHIF mEed 0,01 |  — 193 ARVTV BRHET 0.01 =
139| 7z v L— | BT 0.05 | 050 |194/ A=Y A B 0.01 =
40 7zERFrA—1 BHET 0.01 = 195 A7 xF &y b BT 0.01 -
M| 7=vFary—n mEET 0.01 - 196| A Fa =1 J wHmiEd 0.01 -
42| 7=vFasby e | o.01 - |irlzyx—r gy | oo .| —
143|7% 54 K By 0.01 — 198 Yy==any | BRHET 0.02 0.2
144|757 o— BT 0.01 - 199 L7 =Ry BHEP 0.1 5
145|7 % SR A B 0.01 200/ L F S B 0.03 0.3

UEZ I REZRO (REET) FEETRERBEEZTLET,
EHEMRIRL, BINOEOBEBEE<Z 042> TY,
FEEEIEN L OIT—EELE (0.01) PEISSHET,




